


















Disproporcionácia a symproporcionácia 

• Disproporcionačné (dismutačné) reakcie 
• 3 Cl2(g) + 6 NaOH(aq) = NaClO3(aq) + 5 NaCl(aq) + 3 H2O(l) 

• 3 K2MnO4(aq) + 2 H2O(l) + 4 CO2(g) =  

    = 2 KMnO4(aq) + MnO2(s) + 4 KHCO3(aq) 

• 3 Ga+(aq) =  2 Ga(s) + Ga3+(aq) 

• P4(s) + 3 NaOH(aq) + 3 H2O(l) =  PH3(g) + 3 NaH2PO2(aq) 

• Symproporcionačné reakcie 
• 2 H2S(aq) + SO2(g) = 3 S(s) + 2 H2O(l) 

• 2 Fe3+(aq) + Fe(s) = 3 Fe2+(aq) 

• 5 Br-(aq) + BrO3
-(aq) + 6 H3O+(aq) =  3 Br2(l) + 9 H2O(l) 

• CuSO4(aq) + Cu(s) + 8 NaCl(aq) =  2 Na3[CuCl4](aq) + Na2SO4(aq) 

 


























































































